[ Fake rate vs vertpos | [ Duplicates Rate vs vertpos | [ Pileup rate vs vertpos |
= 0.0%

.009
.008
.007
.006

06 # -------- e -----------
sﬁ****#**#* ...... U T

3 : : : 0.003]

| """""" "" """"""

.......................

fakerate vsr
o
©
T
e
duplicaiessatesvs

0.2 wweenee AP PR R 0.002
- : : : 0.0014

...................

b o= F .
———
E L
Ratio
o
<11 )

1 10 0?
track ref. point r (cn%)
ugm TT__CKF_ORIG

DOM_TT CKFLowPtT ORIG
Fakeratevsy __,_ DQM_TT_CKFLowPtT_MODIF

0.8 - T T T T ~ 0.01 - - - T T ~ 0.01,

o F : : : : : @ E : : : : : @ E : : : : :
@ 0.7feerbereeeebere e S L S S
g A B 00BE+++++-heere e BL00BE-++--heereeebereee b
L SRR RE X L SIS IS RS O SN SO SO A BL007E oo
& : : ] : : $.007F - e R ey B.007F+--- e e AR A
0.5 : : R R | R e 2 o o o o o o a F o o P .
: : : : : 2.006E : : : 3 : 0.006E : : : : 3
: : : : : 5 E : : : : : E : : : :
S SRR 1 IS SRR | £ | AR S L R SIS SIS SIS S 0,005+t eeseshooendioe o
ISV | ST 0 I SRS O NS S S o s T s S
Eoom ' 0008 -+ b b 0008+ b
' : 0.002F -+ : : : ' 0.002f -+ rheeemesenenes SRR, e
01 | """"" 0.001 0001+ eeesesse e
o O : o Q- o G
F=E OSSO SO ] N i . 6 PR 2 2= I
© o L : : : : : 14 r
RSO 1.2 i1 ALK 1| Y A R SRR S S A st
o850 =10 0 10 20 30 B9 =20 -10 0 10 20 30 3520 =10 0 10 20 30

track ref. point z (cm) track ref. point z (cm) track ref. point z (cm)

Fake rate vs. simPVz | [ Duplicates Rate vs sim PV z | [ Pileup rate vs. sim PV z |

~N 0.8r - - - - - - - N 0.01p - - - - - ~ 0.0 T T T T T

> o : : : : : : : > E : : : : : > E : : : : :

G S SO S O L EStE AL UL HEES e IR S SR SRR S

L O Y B L e N e e T e Tt T T

2 LWL Yoty SNSRI NN B.007f- -+ wbeveee e

Q r ' . . . : Q o : : : N : Q o : : : N

s 05 UM e S S 006+ hereonchoee

9 b : : : : : 0 E : : : : : a E : : : : :

S 04F R A SR & 9.005f - e L R R SR S
o : : : . : Q o : : : : : = E : : : : :
0.3F e d e R et T S S A B00AE
N: Lo D003 -vderre e T s IS SR SO B
i A b S S A i S R S
R S R R I I S STIE TR 0.00TE+ -+ eeeesesse e

g bt g f 5 F i G i A T

o £ ; 1IN 3 o r : : : : : ad [ : : : : :
H R i S S St e s S S S
056515 -10 5 0 5 10 15 20 %60 =40 —20 0 20 40 60 %0 40 —20 0 20 40 60

Sim. PV z (cm) Sim. PV z (cm) Sim. PV z (cm)



	Contents
	Page 1


